Appendix E1

Method 1 - Exponential relative amplitude: 

RAPDM1 = 1 –   average of direct & consensual amplitudes (smaller) 
                     average of direct & consensual amplitudes (larger) 

Method 2 – Relative normalized amplitude:

RAPDM2 = 1 –  average of normalized direct & consensual amplitudes (smaller)
                   average of normalized direct & consensual amplitudes (larger)
Method 3 – Relative amplitude (Kalaboukhova 2006): 

RAPDM3 =   average of direct & consensual amplitudes (right)         
              average of direct & consensual amplitudes (left)
Note: if the above ratio is < 1, indicating a weaker right eye, the ratio is inverted and multiplied by -1. A negative value therefore signifies a weaker right eye.

